
Name ………………………………………………………………………..





This part of the rocket should be green.  Write in some calculations which would be green.








This part of the rocket should be green.  Write in some calculations which would be green.








This part of the rocket should be red.  Write in some calculations which would be red.








Colour the Rocket.





If the calculation is correct, colour it green.  If it is incorrect [wrong] colour it red.





43 + 75 = 99





25 + 76 = 101





100 - 56 = 44





37 = 100 - 63





24 + 88 = 130





250 – 60 = 140





90 = 50 - 40





70 – 30 = 100
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